6.20 mm. POWER PLUG/RECEPT. HOUSING

6200 6.20 mm. (0.244”) Pitch. ceneral

Features

Available in 2, 3, 4(2x2), 4(1x4), 6(2x3), 8(2x4), and
12(2x6) pins

Mates with 6.20 mm. pitch 6200 crimp housing and
6.20 mm. header 6205 series

Use crimp terminal 6201 and 6202 series

Polarised with positive locking system

Allows wire to wire and wire fo PCB connections
Inner-housing lock and outer-housing lock

Applicable panel thickness: 0.80 to 2.0 mm.

Materials

Insulator: Nylon UL 94 V-0
Retainer: Nylon 66 UL94V-0
Operating temperature: -40°C to +105°C

RoHS compliant

Dimension Information

Electrical Features

® Voltage rating: < 600V
Current rating: <20 A
Contact resistance: <7 mQ

Dielectric withstanding voltage: 2000 V AC/minute

Insulation resistance: >1000 MQ

Mechanical Features

® Contact retention force to the housing: > 3.0 Kgf
Insertion force to header: < 0.70 Kgf/pin

Withdrawal force from header: < 0.05 Kgf/pin

Durability: 25 cycles
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Shape 1 Shape II

PART NO. p;.;:;::m _ Pan;el hole cl?imensiDons _ ?ﬁﬂﬁiﬂi Fn?nmpil
6200-2011 [ 13.80 | 2060 | 5.70 8.50 1.40
6200-2021 [ 2000 | 26.80 | 5.70 8.50 1.40
6200-2031 [ 2620 | 3300 | 5.70 8.50 1.40
6200-2041 11 13.80 | 2060 | 7.00 | 1540 | 4.20 0.5-2.0
6200-2061 Il 2000 | 26.80 | 7.00 | 1540 | 4.20
6200-2081 Il 2620 | 3300 | 7.00 | 1540 | 420
6200-2121 1] 38.90 | 4540 | 7.00 | 1540 | 4.20

Mote:1.Punch holes in the panel according to the sketch and table shown above Burrs must be removed
2.The strength of the panel must be considered when punching two or more holes.
3.The connector must be inserted from the same side as the hole is punched



6.20 mm. POWER PLUG/RECEPT. HOUSING

6200 6.20 mm. (0.244”) Pitch.

Plug Receptacle Retainer
6200-2011 6200-1011 zl 8 6200-0001
=1
- 'k
o wl =
(=]
15 |
8.70
26 904025 3 P 5.90 s1al ®
; o 2 [pds
12.20:025 % o E:l]] a=ms
- g % 24,00£0.25
”E g A |12.9c&020
“ e | L BT
6200-2011 6200-1021 = § 6200-0002
E
g 8
@l -
g ] 29.5080.25 = 24.00£0.25
=1
16 80020 & 11.00:0.24
I |
i I=| § T
]$ L= 580 270
]— - : I % EL 2R NP A X
- Circvit 1
1
—{8|Z
6200-1022 s
| 3
o 2 3
ol Jd=
24.00+£0.25
11.00£0.20
Kl
E
8
: = =




6.20 mm. POWER PLUG/RECEPT. HOUSING

6200 6.20 mm. (0.244”) Pitch.

4

15.00+0.25

18.60+0.20
.

|

25 804025

- Circuit 1

Plug Receptacle Retainer
6200-2031 6200-1031 6200-0003
gl &
3| &
9 &
L.——l_’_J
- § = 240040 25
% & 29504025 E g 19,0040 20
=] % 16.80:+:0.20 | = pu
| = L i tH ‘I [ H
=]
B b B=11 | = ﬁ
Circuit 1 | 1
g 6200-1032 -
=1
mil
g = R
E —|{5|3
—T 4
&
% =] 24.0040.25
o 8.4040.25 100402
: jumaz
[ b
K= =—
o = = . e
— L .
Cireuit 1
6200-1A42 6200-0004
| e
m—
s A 590, 970
o]
of 24.00:0.25 o
3 B.4040.25 11.0040.20 L s
@ miEE
(=




6.20 mm. POWER PLUG/RECEPT. HOUSING

6200 6.20 mm. (0.244”) Pitch.

Plug Receptacle Retainer
6200-2041 6200-1041 e 6200-0002
ga
=
z|s
e
24004025
‘ 1r.0010.20
4
g
E'm 2 lggg| 9.70
- TS L
%}] =13 %
o | -
8w
23
g
g —— 7 |
= 24.00+0.25
[ 1|‘I.Gl'.]t(]20
Il
(=1
2
6200-2061 = = 6200-0003
4 8
l— gl
wi| ™
e
o— 7 !
g 24 004025
3. 1|‘I.OO:|:G.2O
™
]
— | 9.70
= % &—’%FT 6.15
= —
Circuit 1 T %}] |'|_I =
q m 2
= N = B -
6200-1062
g [ | |
- l— 5
2 N il
2 If Loy 6 24000 25
% 5404025 1 1|.0C|:tO.ZG
w i
lEN - = ElE=it
LRI e
BER - i -]
o o ) g : g
\Girowit2 | '
Circuit 1




6.20 mm. POWER PLUG/RECEPT. HOUSING

6200 6.20 mm. (0.244”) Pitch.

Plug Receptacle Retainer
6200-2081 6200-1081 _ 6200-0004
8| w
— | 2
28.50:0.25 =]l
16802020 -
g 2 24,0040,25
g % 11.00:0.20
2| @
I :
= | &
& 970
am %— 6.15)
=
o—T]
6200-1082 HIEE
ﬁ P "— =
&
(T
gl o Cirauit 8
& =00 24.0040.25
] g % 5.40£0.25 1002020
E 2| o
L :
e ¢ =
\—_|Cir-u.|i12
M Circuit 1
6200-2121 2250:0.25 6200-1121 6200-0006
| 16.8040.20
s| & =
H =1 & w
|| — i
E 9|d
- — ‘lg g
T
son 970
o - as [P | 615
o Cirevit 12 24.00£0.25 |
g A_s.xtmozs 11,0060 20 p—
@ {
8 [ ' L
: e Llds
b Sl i
3 = o | g L]
= 2|5 ¥ ﬂ—
& £ A
@ l o
g
@@L—Cimuiﬂ I
Cirauit 12 N Cirewit 1
6200-1122
g
(=]
g
&
—
Cirewit 12 24.00+0.25
‘)@ 11,000 20
2
o
[ i
i
N e
&g &
b =8
= B
[Circuitz [ |
= \_Cirevit 1






